.+ Point de croix 2 brins
"~ Demi Point de croix | brin~
:+ DMC : 3865
=z DMC : 745
41 DMC : 3822
29 DMC : 3855
3% DMC : 3854
== DMC : 3853
44 DMC : 402
22 DMC : 3856
¥¥ DMC : 353
44 DMC : 761
o DMC : 352
DMC : 351
DMC : 3328
B8 DMC : 355
88 DMC : 902
33 DMC : 3834
28 DMC : 3836
*® DMC : 3727
Zf DMC : 225
2% DMC : 3743
33 DMC : 3042
U DMC : 3041
B8 DMC : 09
a8 DMC: 29
28 DMC : 791
a8 DMC: 31
DMC : 160
DMC : 157
DMC : 3813
DMC : 3816
DMC : 561
DMC : 3363
23 DMC : 3364
44 DMC : 472
¢ DMC: 10
3% DMC : 3012
Point de piqure 1 brin
— DMC: 09
= DMC : 3012
Point de noeud 2 brins
. DMC : 3854
S5 DMC: 09
55 DMC: 29
DMC : 472
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